
MATHS

BOOKS - RS AGGARWAL MATHS (HINGLISH)

PROPERTIES OF TRIANGLES

Example

1. In a  and ,find the measure of 

A. 

B. 

C. 

D. 

Answer: A

W t h Vid S l ti

△ ABC, ∠A = 35∘ ∠B = 65∘ ∠C

80∘

120∘

155∘

140∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_idTYfYGrzQFG


Watch Video Solution

2. Find the angle of a triangle which are in the ratio .

Watch Video Solution

3: 4: 5

3. Two angles of a triangle are equal and the third angle measue  Find

the measure of each of the unknown angles.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

70∘

55∘

45∘

35∘

110∘

https://dl.doubtnut.com/l/_idTYfYGrzQFG
https://dl.doubtnut.com/l/_LZM5FKGymks3
https://dl.doubtnut.com/l/_Wl7RUpYhOgug


4. In a  if 3 ,calculate 

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

△ ABC ∠A = 4∠B = 6∠C ∠A

∠A = 60∘

∠A = 80∘

∠A = 40∘

5. The adjoining figure has been obtained by using two triangles .then


∠A + ∠B + ∠C + ∠D + ∠E + ∠F = ?

https://dl.doubtnut.com/l/_rhYOCIs2eir2
https://dl.doubtnut.com/l/_bpQkltdyhPM5


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

180∘

270∘

360∘

720∘

https://dl.doubtnut.com/l/_bpQkltdyhPM5


6. In the given figure find the values of x and y.

A. x=70 and y=65

B. x=70 and y=55

C. x=55 and y=70

D. x=80 and y=55

Answer: B

Watch Video Solution

7. one side of a triangle is produced and the exterior angle so formed is

.if the interior opposite angles be in the ratio .find the measure120∘ 3: 5

https://dl.doubtnut.com/l/_cMt34pGr40Tw
https://dl.doubtnut.com/l/_TwmfpRtELnHa


of each angles of triangle .

Watch Video Solution

8. If the sides of a triangle are produced in an order, show that the sum of

the exterior angles so formed is 

Watch Video Solution

360°.

https://dl.doubtnut.com/l/_TwmfpRtELnHa
https://dl.doubtnut.com/l/_goX2ALarmqo8


9. Is it possible to draw a triangle the length of whose sides are 3cm 4cm

and 5cm?

Watch Video Solution

10. Is it possible a triangle whose sides have length 10.3 cm ,5.8cm and 4.6

cm?

Watch Video Solution

11. Is it possible to draw a triangle whose sides are 5cm 7cm and 12cm?

Watch Video Solution

12. Three points A,B,C are collinear they lie on the shown in the figure.can

you draw ?if not why .
△ ABC

https://dl.doubtnut.com/l/_wk63bA1iUD4n
https://dl.doubtnut.com/l/_W0Y4qIyY3amx
https://dl.doubtnut.com/l/_b3l7wVYTV9rV
https://dl.doubtnut.com/l/_97JWqoKfAGvH


Watch Video Solution

13. Two sides of a triangle are 6cm and 8cm long. What can be the length

of its third side ?

Watch Video Solution

14. The hypotenuse of a right triangle is 17cm long .if one of the

remaining two sides is 8 cm in length .find the length of the other side.

https://dl.doubtnut.com/l/_97JWqoKfAGvH
https://dl.doubtnut.com/l/_vX5Mt1uEG6DO
https://dl.doubtnut.com/l/_g3c4viHolp3B


Watch Video Solution

15. The length of the sides of two triangle are given below.Which of them

is right angles? 

a=7cm,b=24cm,c=25cm 

a=8cm,b=5cm,c=10cm

Watch Video Solution

https://dl.doubtnut.com/l/_g3c4viHolp3B
https://dl.doubtnut.com/l/_6b9W94zIXc2d


Watch Video Solution

16. A 15m long ladder is placed against a wall in such way that the foot of

the ladder is 9m away from the wall.Up to what height does the ladder

reach the wall?

Watch Video Solution

17. A ladder 17m long reaches a window which is 8m above the ground.on

one side of the street. Keeping its foot at the same point.the ladder is

turned to the other side of the street to reach at a height of 15m .Find

the width of the street.

Watch Video Solution

18. A man goes 24 m due east and then 10m due north.How far is he away

from his initial position?

A. 26 m

https://dl.doubtnut.com/l/_6b9W94zIXc2d
https://dl.doubtnut.com/l/_UDMcDwLWfMI3
https://dl.doubtnut.com/l/_lly8b9PAeFYa
https://dl.doubtnut.com/l/_GrEOibT5n34q


B. 25 m

C. 20 m

D. 15 m

Answer: A

Watch Video Solution

19. Two poles of height 9m and 14 m stand upright on a plane ground.if

the distance between their feet is 12m.find the distance between their

tops.

Watch Video Solution

20. A tree is broken at a height of 6 m from the ground and its top

touches the ground at a distance of 8m from the tree.Find the original

height of the tree.

https://dl.doubtnut.com/l/_GrEOibT5n34q
https://dl.doubtnut.com/l/_PuUfVw3i99du
https://dl.doubtnut.com/l/_683rLyMJsC0P


Exercise 15 A

A. 6 m

B. 16 m

C. 10 m

D. 14 m

Answer: B

Watch Video Solution

1. In a  if  and ,find 

Watch Video Solution

△ ABC ∠A = 72∘ ∠B = 63∘ ∠C

2. In a , if  and ,find 

Watch Video Solution

△ DEF ∠E = 105∘ ∠F = 40∘ ∠D

https://dl.doubtnut.com/l/_683rLyMJsC0P
https://dl.doubtnut.com/l/_b2DG5CDoteWB
https://dl.doubtnut.com/l/_OAVk2eO5NobN


3. In a ,if  and ,find .

Watch Video Solution

△ XY Z ∠X = 90∘ ∠Z = 48∘ ∠Y

4. Find the angle of a triangle which are in the ratio 

Watch Video Solution

4: 3: 2

5. One of the acute angles of a right triangle is ,find the other `

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

36∘

54∘

50∘

60∘

65∘

https://dl.doubtnut.com/l/_urON7dv6Uaki
https://dl.doubtnut.com/l/_DypdosrHP6ob
https://dl.doubtnut.com/l/_Ac1c2Bz2sxY8


6. The acute angle of right triangle are in the ratio  .Find each of these

angles.

Watch Video Solution

2: 1

7. One of a triangles is  and the other two angles are equal.Find each

of the equal angles.

Watch Video Solution

100∘

8. Each of the two equal
angles of a triangle is twice the third angle. Find

the angles of the
triangle.

Watch Video Solution

9. If one angle of a triangle is equal to the sum of the other two,show

that the traingle is right angled.

https://dl.doubtnut.com/l/_Ac1c2Bz2sxY8
https://dl.doubtnut.com/l/_oKaawwrDGQU9
https://dl.doubtnut.com/l/_7O7OKMVJ5Smp
https://dl.doubtnut.com/l/_YYpXk18x9O1s
https://dl.doubtnut.com/l/_xzq7dak9gBiB


Hint.

Watch Video Solution

∠A = ∠B + ∠C ⇒ ∠A + ∠B + ∠C + = 180∘

10. In a ,if  calculate  and 

Watch Video Solution

△ ABC 2∠A = 3∠B = 6∠C ∠A, ∠B ∠C

11. Find the measure of
each angle of an equilateral triangle.

Watch Video Solution

12. In the given figure, . If  and  find.


 


 


DE ∣ ∣ BC ∠A = 65∘ ∠B = 55∘

∠ADE

∠AED

https://dl.doubtnut.com/l/_xzq7dak9gBiB
https://dl.doubtnut.com/l/_LSInpbnURXeL
https://dl.doubtnut.com/l/_JEOxmDmCJTTi
https://dl.doubtnut.com/l/_LtTt0tFpgoOJ


 


Watch Video Solution

∠C

13. Can a triangle have 

two rght angles? 

two abtuse angles? 

two acute angles? 

all angles more than  
60∘

https://dl.doubtnut.com/l/_LtTt0tFpgoOJ
https://dl.doubtnut.com/l/_5ZWAqvoEUIsx


all angles less than  


all angles to ?

Watch Video Solution

60∘ ?

60∘

14. Can a triangle following in Yes or 'NO'` 

Can an isoseceles triangle be a right angle? 

Can a right triangles be scalene triangle? 

Can a right triangle be an equllateral trianfle? 

Can an obtuse triangle be an isosles triangle?

Watch Video Solution

15. Fill in the blanks:

A right triangle cannot have an ……..angle. 

The acute angles of triangle triangle are…. 

Each acute angle of an isosceles right angle measure….. 

Each angle of an equilateral triangle measure. 

https://dl.doubtnut.com/l/_5ZWAqvoEUIsx
https://dl.doubtnut.com/l/_nfSOvNSM3nMx
https://dl.doubtnut.com/l/_7cxWz3lWNx34


Exercise 15 B

The side opposite the right angle of a right triangle is called…. 

The sum of the lengths of the sides of a triangle is called its…..

Watch Video Solution

1. In the figure given alongside,Find the measure of  


Watch Video Solution

∠ACD

https://dl.doubtnut.com/l/_7cxWz3lWNx34
https://dl.doubtnut.com/l/_kRQ2ElfX5h4O


2. In the figure given along side ,find the values of x and y.

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

x = 62∘ , y = 50∘

x = 50∘ , y = 50∘

x = 50∘ , y = 62∘

https://dl.doubtnut.com/l/_08R0SEGwyFhk


3. In the figure given alongside ,find the values of x and y.

Watch Video Solution

4. An exterior angle of a triangle measure  and its interior oposite

angles are in the rato  .Find the angles of the triangle.

A.  and 

B.  and 

C.  and 

D. none of these

Answer: B

110∘

2: 3

40∘ 70∘

44∘ 66∘

50∘ 60∘

https://dl.doubtnut.com/l/_ccU2JvJuGkLz
https://dl.doubtnut.com/l/_Nl4pQ5EhVLqH


Watch Video Solution

5. An exterior angle of is  and its interior opposite angles are equal

to each other.Find the measure of each angle of the triangle .

Watch Video Solution

100∘

6. In the figure along side ,Find:




 


Watch Video Solution

∠ACD

∠AED

https://dl.doubtnut.com/l/_Nl4pQ5EhVLqH
https://dl.doubtnut.com/l/_fHDKaAtkMVqW
https://dl.doubtnut.com/l/_0GrzM99PoVRX


7. In the figure alongside,Find:




 


 


Watch Video Solution

∠ACD

∠ADC

∠DAE

8. In the figure given alongside , x : y = 2 : 3 and angle ACD = 130 ^(@)` .

Find the vaues of x, y and z. 

https://dl.doubtnut.com/l/_0GrzM99PoVRX
https://dl.doubtnut.com/l/_lDk9QNB25vjH
https://dl.doubtnut.com/l/_ORdBHhyvp6SV


Exercise 15 C

Watch Video Solution

1. Is it possible to draw a triangle ,the length of whose sides are given

below ?

1cm ,1cm ,1cm 

2cm ,3cm, 4cm 

7cm, 8 cm, 15 cm 

3.4 cm, 2.1 cm, 5,3 cm 

6 cm. 7cm , 14cm

Watch Video Solution

https://dl.doubtnut.com/l/_ORdBHhyvp6SV
https://dl.doubtnut.com/l/_DnPlhY1ZsSz9


2. Two sides of triangle are 5 cm and 9 cm long. What can be the length of

its third side?

Watch Video Solution

3. If P is a point in the ineterior of  then fill in the blanks with 

 


PA+PB……AB 

PB+PC…..BC 

AC…..PA+PC 

Watch Video Solution

△ ABC

> or < or −

https://dl.doubtnut.com/l/_DnPlhY1ZsSz9
https://dl.doubtnut.com/l/_VNpqohHS0OfC
https://dl.doubtnut.com/l/_cxERq1FAnSYN


4. AM is median of , prove that (AB+BC+CA) .


Watch Video Solution

△ ABC > 2AM

5. In the given figure ,P is a point on the side BC of .Prove tat 




△ ABC

(AB + BC + AC)GT2AP

https://dl.doubtnut.com/l/_cxERq1FAnSYN
https://dl.doubtnut.com/l/_0JuHBQte2So4
https://dl.doubtnut.com/l/_gwxvvqruErmt


Watch Video Solution

6. ABCD is a quadri,aterial prove that

 


Watch Video Solution

(AB + BC + CD + DA) > (AC + BD)

https://dl.doubtnut.com/l/_gwxvvqruErmt
https://dl.doubtnut.com/l/_eM1gT4OTL5jS


Exercise 15 D

7. If O is point in the exterior of ,show that 




Watch Video Solution

△ ABC

2(OA + OB + OC) > (AB + BC + CA)

1. Find the length of the hypotenuse of a rigt triangle,the other two sides

of which measure 9 cm and 12cm

https://dl.doubtnut.com/l/_eM1gT4OTL5jS
https://dl.doubtnut.com/l/_nu8AGqh5CWSY
https://dl.doubtnut.com/l/_2s1oUwApzl1B


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

16cm

15cm

17cm

18cm

2. The ypotenuse of a right trianle is 26cm long. If one of the remaining

two sides is 10 cm .Find the length of its third side.

Watch Video Solution

3. The length of one side of a right triangle 4.5 cm and the length of its

hypoteneous is 7.5 cm .Find the length of its third side.

Hint :Let the third side be x then 

X2 = (7.5)2 − (4.5)2 = (7.5 + 4.5)(7.5 − 4.5) = (12 × 3) = 36 = (6)2

https://dl.doubtnut.com/l/_2s1oUwApzl1B
https://dl.doubtnut.com/l/_1JLucKPUpIRR
https://dl.doubtnut.com/l/_IfIWOpu3E3O1


Watch Video Solution

4. The two legs of a right triangle are equal and the square of its

hypotenuse is 50 .Find the length of each leg.

Watch Video Solution

5. The sides of a triangle measure 15 cm ,36cm and 39cmShow that it is a

right angled triangle.

Hint

Watch Video Solution

. (39)2 − (36)2 = (39 + 36)(39 − 336) = (75 × 3) = (5 × 3 × 3) = (5 × x

6. In right  the lengths of its legs are given as a=6cm and b=4.5

cm .Find the length of itss hypotenuse.

Watch Video Solution

△ ABC

https://dl.doubtnut.com/l/_IfIWOpu3E3O1
https://dl.doubtnut.com/l/_tQFFSXl2UVt1
https://dl.doubtnut.com/l/_0TYhpi8xcfA5
https://dl.doubtnut.com/l/_WtZQJk1xNHfb


7. The length of the sides of some triangles aregiven below .Which of

them are right angled?

a=15cm, b=20 cm and c=25 cm 

a=9 cm, b=12 cm and 16 cm 

a=10 cm, b=24 cm and c=26cm

Watch Video Solution

8. In a  and .Write of the following is true

 


 


△ ABC, ∠B = 35∘ ∠C = 55∘

AC 2 = AB2 + BC 2

AB2 = BC 2 + AC 2

https://dl.doubtnut.com/l/_WtZQJk1xNHfb
https://dl.doubtnut.com/l/_ln2kXRI1d9Tu
https://dl.doubtnut.com/l/_5rrNBvdNtoct


 


Watch Video Solution

BC 2 = AB2 + AC 2

9. A 15-m long ladder is placed against a wall to reach a window 12 m

high.Find the distance of the ladder from the wall.

https://dl.doubtnut.com/l/_5rrNBvdNtoct
https://dl.doubtnut.com/l/_82mzuDjaJU0b


A. 9 m

B. 10 m

C. 11 m

D. 12 m

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_82mzuDjaJU0b


10. A 5-m long ladder when set against the wall of a house reaches a

height of 4.8 cm.How far is the foot of the ladder from the wall?

Watch Video Solution

11. एक पेड़ भूमि से 5m की ऊं चाई पर टूट जाता है और उसका ऊपरी सूरा भूमि को उसके

आधार से 12m की दूरी पर छु ता है। पेड़ की पूरी ऊं चाई ज्ञात कीजिए।

Watch Video Solution

12. Two poles 18m and 13 m high stand upright in a playground If their

feet are 12 m apart. Find the distance between their tops.

Watch Video Solution

13. A man goes 35m due west and then 12 m due north. How far is he from

the starting pont?

https://dl.doubtnut.com/l/_abA2KH2NXdFV
https://dl.doubtnut.com/l/_dyPGsfvWV99U
https://dl.doubtnut.com/l/_sY0kNr83ztXm
https://dl.doubtnut.com/l/_GDEtjb6v6jEc


Watch Video Solution

14. A man goes 3 km due north and then 4 km due east.How far is away

from his initial position?

Watch Video Solution

15. Find the length of diaonal of the rectangle whose sides are 16 cm and

12cm.

Watch Video Solution

16. Find the perimeer of the rectangle whose length is 40 cm and

diagonal is 41 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_GDEtjb6v6jEc
https://dl.doubtnut.com/l/_7Y3xsE7jyyDW
https://dl.doubtnut.com/l/_xLAvO1APGL1q
https://dl.doubtnut.com/l/_uiKP78uyankQ


17. Find the perimeter of a rhombus ,the lengths of whose diagonal are

16cm and 30 cm.

Watch Video Solution

18. Fill in the blanks:

In a right triangle,the square of the hypotenuse is equal to the ……of the

squares of the other two sides. 

If the square of the one side of a triangle is equal to the sum of the

square of the other two sides then the triangle is………. 

Of all the lines segments that can be drawn to a given line from a given

point outside it.the …..is the shortest.

Watch Video Solution

https://dl.doubtnut.com/l/_T7zdTM0dW7k1
https://dl.doubtnut.com/l/_r72PLRYQfEeL

